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Abstract

In this work we consider iteratively regularized conjugate gradient method to solve the inverse problem of
reconstructing the unknown space dependent conductivity function in a bounded domain. The conductivity
function is reconstructed by solving the hyperbolic differential equation using measured data in space and
time on the boundary of the domain, where the measured data is generated by sending a plane-wave through
the domain.

The inverse problem is stated as a minimization problem of the Lagrangian functional, defined using the
Tikhonov functional, and approximate functions are computed by the finite element method (FEM). The
stationary point that minimizes the Lagrangian is found by computing a sequence of conductivity functions
that converges to the minimum point. Conjugate gradient method (CGM) and fixed point iterations (FPI)
are considered to compute the minimization sequence, where the Tikhonov functional is iteratively updated.

The goal of this master's thesis is to compare the efficiency and speed of the optimization algorithms,
when the regularization parameter in the Tikhonov functional is iteratively updated.
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1 Introduction

Reconstruction techniques of the unknown conductivity function a(x), € Q C R3, in space present increasing
interest for the mathematical and physical research community. Some common techniques used today, are for
example, ultrasound and x-ray, which give a good image of the object inside the material but a poor estimate
of numerical values of a(x). Possible areas of applications are cancer diagnostics, nondestructive testing of
materials and many others.

Reconstruction of the conductivity is an ill-posed, inverse problem of finding a feasible a(x) so that
A(a(z)) = b(z,t), where A is an arbitrary mapping operator to the system defined for all feasible a(z), and
b(x,t) €  x J is measured data in time interval J C R and space 2. Since the inverse problem is ill-posed
the solution might be numerically unstable for small perturbations of b, see [6, 11]. The inverse problem is
solved by minimizing the Tikhonov functional:

Fla()) = 31 4(a()) ~ Bl s + Lllalz) — a0(a) 3oy

where ag is an initial guess, assumed to be close to the exact solution, v € (0,1) is the regularization
parameter, || - ||L,x.ny and || - ||z,(q) are the Lo norm over 2 x J and Q respectively. The regularization
term in the functional ensures that solutions ||a(z)|1,(o) remains bounded and close to the initial guess.

The conductivity a(x) can be reconstructed using computer simulations of partial differential equations
in two and three dimensions, meaning that the mapping operator A(a(z)) can be computed for any feasible
a(x), it is important to use efficient computational methods for speed and accuracy when the computational
domain is very large.

This master’s thesis examines the benefits of iterative regularization, using the Lagrangian approach to
reconstruct the conductivity in a hyperbolic equation, see [1, 3] where this method is applied, which can
also be used to reconstruct the coefficients in Maxwell's equations, see [5, 10]. This is done by comparing
the results of computer simulations using different iterative minimization algorithms. The algorithms used in
this work are fixed point iterations (FPI), conjugate gradient method (CGM) with a constant regularization
parameter, and CGM with a iteratively regularized Tikhonov functional. See [5, 11] for details of iterative
regularization.

In works [1, 3, 5, 10] the mapping A(a(z)) is computed with domain decomposition of Q@ = Qpgas U
Qrpar € R3, using an adaptive finite element method (FEM) on the subdomain Qg of the material where
a(x) is assumed to be unknown, and finite difference method (FDM) on Qg pas where a(x) is assumed to
be constant. Using FEM/FDM domain decomposition ensures that the more computationally costly FEM is
only used where needed. The resulting equation systems are solved using parallel computing for speed.

However, in this work the inverse problem is solved in two dimensions using a non-adaptive FEM over the
whole domain, without any parallel computing.

The mathematical equation that governs the propagation of a wave in a waveguide is the hyperbolic partial

differential equation, which in its general form is defined as:

1 0%u

—— — V- (aVu) = in Qx(0,7), 1

S =V @V = 1 (0,7) M)
where the scalar field u(x,t) denotes the measured property of the wave such as voltage or displacement,
¢(x) > 0 denotes the wave speed in the domain, a(x) > 0 denotes the conductivity coefficient in the domain
and f(x,t) denotes some external force acting on the system. The domain Q € R3 is assumed to be convex

and bounded, the boundary to €2 is denoted T'.
If ¢, a and f are known, then wu(z,t) can be solved using initial conditions:

u(z,0) =up(z) in€Q,

0
S (@.0) = ui(2) in
and first order absorbing boundary conditions:
ou ou
— =—— r T).
5 5 on L X (0,7)



The hyperbolic equation (1) is simplified for the scope of this master's thesis, which is comparison of
iterative minimization methods for reconstructing the conductivity coefficient a(x) in (1). It is sufficient to
work in two dimensions with a rectangle domain €2 € R?, any results and conclusions are directly applicable
on the problem in three dimensions. Working in two dimensions reduces computational time and makes it
easier to view the conductivity a(x). The coefficients in (1) are dimensionless, so that the wave speed ¢ = 1
throughout the domain, and a(z) > 1 with a(z) = 1 on I'. External forces f = 0 and initial conditions
ug = up = 0 are set to zero. The wave is initialized in by introducing an impulse function p(t) acting on a
part of the boundary for a sub-interval (0, 1].

This simulates sending a plane wave through a material that is initially at rest with no external forces
working on it, and then measuring u(x,t) on the boundary over the time ¢t € (0,7"). The measurements of
uwonI' x (0,T) gives information about the material and are used to reconstruct the conductivity inside the
domain.

The data measured on the boundary where the plane wave is induced, is known as backscatter data,
which is caused by that the wave is reflected in regions where Va # 0. The data measured on the opposite
boundary from where the plane wave is induced, is known as transmitted data, which is distorted from the
induced plane wave if Va # 0 in regions in the material.

The outline of this work is as follows. Section 2 of this thesis describes some general theory of ill-posed
inverse problems and Tikhonov functionals that can be used to solve such problems, see [6, 11]. Section 3
describes some common iterative minimization methods when applied on real valued functions, see [4, 5].
Sections 4-10 define the classical problem described by P.D.E. with boundary and initial conditions, the
variational formulation and minimization problem, who are all equivalent, that is:

(P.D.E. Problem) < (Variational Formulation) < (Minimization Problem),

where the classical P.D.E. problem have strong solutions, and variational formulations have weak solutions.
The Lagrangian functional is defined in section 9, using the Tikhonov functional, and then it is shown that
(Minimization Problem) = (Variational Formulation) = (P.D.E. Problem), in the sense that the strong
solutions to the forward problem, adjoint problem and conductivity coefficient are derived from the variational
formulations of the minimization problem. Then the finite element method is defined and described in detail
in sections 11-13. The FEM gives approximate solutions to the variational formulation that minimizes the
Lagrangian functional. Sections 14-15 define the minimization methods and algorithms used to compute a
sequence {ag(z), a1(x), ...,an(x)} that minimizes the Lagrangian functional. Sections 16-19 present the
numerical results and discussions when algorithms of sections 13-14 are implemented in two different case
studies.

The appendix presents and describes some common methods to define and compute linear basis functions
in one and two dimensions, for the finite element method, and how to compute resulting FEM matrices. See
[2, 7,8, 9]



2 General theory about ill-posed inverse problems

In this section the general theory of real valued operators and functionals is presented. For further enquiry
see [6, 7, 11].

2.1 Tikhonov functional

Let A be a mapping operator on a Hilbert space H; into a Hilbert space Hs such that A : Hy — Hs. Also
assume that the two Hilbert spaces H; and Hs contain real valued elements, and let (-, -)q,, (-, ) m, denote
the bilinear scalar product associated with the two function spaces. Define the norms by:

||x||§{1 = ('T7x)Hl x € Hi,
(2)

||y||2H2 = (yvy)Hz Yy e H2~

Assume that A(z) = y is well-posed and can be computed for each & € Hy, but A(z)~ ! is ill-posed. We
want to find x* such that A(x*) = y*, where y* is known, let X* = () denote the set of possible solutions.
Define the Tikhonov functional as:

1 . y
F(z) = §||A(x) -y, + §||x — o7, (3)

where v > 0 is the regularization parameter and z is the initial guess, a fixed point in H;.

The initial guess z( is assumed to be chosen in the vicinity of z* € X*, so that the chosen optimization
method is able to converge to z*, but the fixed point g does not necessarily have to be the initial guess of
the optimization method. It can be chosen as an arbitrary fixed point £ € Hy, that will consequently limit
the set of possible minimization points to an open ball around & for any fixed v > 0.

Our goal is to find the x, € H; that minimizes F, that is:

F(z,) < F(Z) V€ H,. (4)

The most direct way to find the minimum point is to compute the Fréchet derivative of the Tikhonov functional
and find the stationary points. Denote the Fréchet derivative F’'(x) = H(x) +v(x — ag) € H; for simplicity,
where the operator H : H; — Hi, and find the stationary points z, that satisfies:

F/(xv) = H(m'y) + 'Y(x'y —ag) =0, (5)

and chose the z that is the global minimizer. Depending on ~, the point that minimizes F* will differ from
x*. Clearly the Tikhonov functional satisfies:

i > >
mlenffh F(z) >0 VYy>0, (6)

but the functional does not necessarily have a global minimizer. However, for any v > 0 and for any accuracy
€ > 0 there exists an element xfy € H; such that:

i < fY< i .
gclenkf[1 F(z) < F(zf) < QE1€I1I_fI1 F(z)+e (7)

Meaning that F'(x5) differs by not more than € from the infimum. Take some minimum point z* € X*, we
have the estimate:

F(z%) < F(z¥) +e. (8)
Using the definition of the Tikhonov functional, the estimate is:
1 , Y Y
S1AGS) = 57, + 2t - zolly, < Jle” — wolid, +e ©)

From equation (9) it follows that:

1 « AT
31A@S) =, < Glle” —wolif, +e,
10
€ 2 * 2 2e ( )
|25 — 2o, < 2" —2olla, + —-



Suppose that ¢ = £(-y) depends on the regularization parameter such that:

lim £ _ 0, (11)
y—0 7y

fulfilling the estimate,

which implies that lir%a(y) = 0. Then the sequence of elements {xim}ve(o,%]
y—

minimizes the functional as v — 0, since:
li | 4(23) — " . = 0,

lim |l = zollmy = lla” — ol

2.2 Ilteratively regularized Tikhonov functional

The general idea of iteratively regularized Tikhonov functional is to choose an iterative optimization method,
such as the gradient method (GM) or conjugate gradient method (CGM), to compute a sequence of points
{z,} that converges to x* for an arbitrary strongly convex functional, given a sequence of regularization
parameters {7, } that converges to zero.
This implies that the Tikhonov functional tends to zero for large n:s, instead of some positive constant.
The sequence {~,} should fulfill:
Yo = V12 Yo 2= Vg1 > 0,
. (13)
lim ~, =0,
n—oo
and be chosen to ensure fast convergence for the optimization method.
Let &, = €(7») denote the accuracy and x5 denote the point that differs by no more than ¢,, from the
infimum, dependent on ~,, and iteration n in the iterative scheme. Write the estimates derived from equation
(9) as:

1 0
5||A(:ciz) -y, < 2 lla* —zollE, +en,

=2
) (14)
€
a5 = wollzy, < lla* — zollF, + =,
Tn
and suppose that:
lim ¢, = lim v, = lim Sno_ 0. (15)
n—o0 n—oo n—oo 'Yn

Let x,, denote the stationary point that exactly minimizes the Tikhonov functional in each given iteration,
with the condition F’(z., ) = 0.

Consider using the gradient method with an iteratively regularized parameter ~y,, that satisfies condi-
tion (13), to find the global minimizer. The gradient method is based on computing the steepest descent
—F'(z,) € Hy at point z, and minimize the function F(x,, — aF'(z,)) by performing a line search along
ZTpn — F'(x,). The step-size cv,, > 0 that minimizes the function along the steepest descent is then chosen
to compute x,,41, such that:

Tp4+1 = Tn — anF/(xn) =Tpn — an(H(xn) + 'Yn(xn - LL‘())), (16)

until convergence is achieved for the sequence of {z,}. How to perform the line search and compute F'(z,)
is explained for the model problem in sections 10, 14. The gradient method implemented on general real
valued functions as f : R? — R is described in more detail in section 3. For now, we assume that it is possible
to compute F'(z,) and «,, for the arbitrary Tikhonov functional. The step-size v, > 0 is an inner parameter
of the gradient method that will depend on the regularization parameter ~,,.

To find a suitable sequence of {~,} that fits the gradient method, start by subtracting the global minimizer
Z~, and take the H; norm squared, so that:

Hxn+1 - m"/n”?{l = Hxn - x"/n - an(F/(xn) - F/(x'Yn))H%‘Il' (17)



Here we have used that F’(x.,, ) = 0 on the right hand side. Assume that the H; norm is defined by a bilinear
scalar product so that || - [|3;, = (-,-)x,, we then get:

iy = Ml — a2y, 5, — 200 (F'(@n) = F'(24,), 20 — 24,) 1,

+apllF (2n) = F'(,)

||$n+1 — Ty,
! (18)

|2
Hl'

The sequence of regularization parameters is found by estimating equation (18) and analysing its convergence
rate.

The first step is to estimate the (F'(z,) — F'(z,), Ty — T+, )H, term. Use that F'(z,) = H(z,) +
Yn(xn — o) = &, where & is an arbitrary element in Hy, and that F'(z.,) = H(z,,) + Yn(z,, — o) = 0.
We get that F'(z,,) — F'(x,,) = H(z,) — H(z,) + Y (zn — 2, ) = & Scalar multiply F'(z,,) — F'(z+,)
by z, — z,, to get:

(F'(zn) = F'(2,), 20 = 2y, )1, = (H'(2n) = H'(24,), &0 — T4, ),

. (19)
+ Wllzn — 2, |7, = (6 20 — 24, )1, -
Use the fact that F' is strongly convex in Hy, so that:
(H’(l‘g)—H’(l‘l),l‘g—xl)Hl >0 Vri,x0 € Hy. (20)
Hence we get the inequality:
(F/(mn) - F'(m%),mn - x’Yn)Hl > YnllTn — Ly, %{17 (21)
which means that:
—(F'(2n) = F'(24,), 00 = 2, )1, < =Ynlltn — 24, |13, - (22)
Substitute inequality (22) into equation (18), to get:
[Znt1 — Ly ”%{1 < |lzn — Ly, ||2H1 — 200 Yn || Tn — x’m”%{l (23)

+ | F'(n) = F'(24,) |13, -

The next step is to estimate the ||F”(z,) — F'(x,,)||7;, term. This is done by using the definitions of

F'(xy), F'(x,,) and expanding the bilinear scalar product | - [|%;, = (-,-)n,, so that:
1F" () = F' (2, )T, = -+ = H () = H'(24,) 1T,
+ 290 (H' (zn) — H'(2,), T — T, ),
+ 731”3311 = Ly, %{1 (24)

2

< ||H'(xn) — H'(25,) H,

|%11 + VZHxn — T,

2
H17

< %21”3771 = Ly

where inequality (20) is used again. Substitute (24) into (23), divide both sides by |z, — ., [|7,, and take
the square root of the expression, to get:

lonin =20l AT 1 gy, (25)
Hy

Hﬂjn _‘T’Yn

To get convergence in the gradient method, we need to choose ,, a, so that 0 < 1 — a,7y, < 1 is small
for at least large n:s. The sequence of {v,} should fulfill (13) and the sequence of step-sizes {«}} should
converge to zero as the gradient method converges to the minimum point.



One example of such a sequence that slowly converges to zero is:

__ 0
Tn (n+ 1);0’
_ Qo 26
Ay = (n T 1)p+q’ ( )
n=0,1,...,

where o, a9, p € (0,1) and ¢ > 0. For further enquiry on the theory behind choosing a suitable sequence,
see [5, 11].

3 Minimization methods, some common iterative schemes

The iterative schemes described in this section are for real valued functions f(z) : R®™ — R, continuous for
x € Q, and f(z*) < f(z) Y € Q is the sought for minimum point.

3.1 Definition of convergence rate

For any given iterative scheme, the sequence z — x* as kK — oo, converges with rate p > 1, if 3¢ > 0, such
that: .
Tht1 — &
lim |2k — 27| — (27)
k—oo |z — T*|P
In the computer simulations, x* is known, and the error sequence e = x, — x* can be computed and
estimated by |eg41| & c|ex|P for large enough k. If the exact 2* is not known, the the error can be estimated

by éx = 2 — xk_1 for large enough k [4]. That is to say, ¢ and p can be approximated by solving:

ek = lex| = |zx — 27|, (28a)
Er = |k = |zk — a1l (28b)
Ek+1 .

~ ¢, when k is large 28c
o ( ) (26)

P
LA PV ( ok ) , (when k is large) (28d)
€k €k—1

for large enough k:s, where you use the error e or éx, depending on if * is known or not.

3.2 Fixed point iteration (FPI)
The point z* is a fixed point to f if it fulfills f(z*) = z*. The sequence:
Tht1 = f(lk) (29)

converges to x* for xg chosen in the vicinity of 2*. If the function is Lipschitz continuous, so that |f(x;) —
f(z;)| < L|x;—x;| for any points z;, z; € €, with Lipschitz constant L<1, it can be shown that |z, —z,_1| <
LF=1]xy — x¢|. Fixed point iteration converges linearly to z*, since:

lim |2kt — 27| - L. (30)

k—o00 |xk — .’L‘*‘

3.3 Gradient method (GM)

Assume that f(z) : R® — R is continuous, and that f/(z) : R® — R™ exists. Then minimize f(x) by
computing the sequence:
dk = _f/(wk)a

oy = argmin{ f(z + ady) : a > 0}, (31)

Tpq1 = Tk + opdg.



The step-size «y, is chosen to minimize the function gx(a) = f(z + ady) for each k. This can be seen as
doing a line-search from the point zj; along the direction di, which may not be possible or feasible to do
exactly, then choose aj, to “loosely” minimize the functional along the direction.

3.3.1 GM on quadratic functions
A common minimization problem is to minimize the quadratic function:

f(z) = %mTAm —aTb, (32)

where A is an n X n symmetric positive definite matrix. We have that f’(z) = Az — b and f”(x) = A. Since
f'(x) = Ax — b we get that dj, = b — Az, and gx(a) = f(zx + ady) is a second order polynomial that can
be computed and minimized for each k. By expanding gx(a) and computing ¢'(a) = 0, we get that:

1
gr(a@) = 3 (foxk + 2ad} Az, + oﬁd{Adk)7
g (o) = df Azy, + adl Ady, — dFb =0, (33)
_ Ao —Any) _ dlde | @)ll3
dj; Ady, dif Ady, || f'(z) 12

The computing sequence for f(z) = 327 Az — 27b then becomes:

dk = —(Axk — b),

~dfdy
ap = dzAdk7 (34)
Tpt1 = Tk + apdy.

3.4 Conjugate gradient method (CGM)
Let f(z) be as for GM. Minimize f(zx) by the sequence:

do = —f'(z0), (first iteration)

dy = —f'(xx) + Brdy—1,

! 2
ﬂk = M (35)

1/ (ze-1)>
oy = argmin{ f(x + ady) : a > 0},
Thy1 = T + ody,.

The major difference from the gradient method, is that a fraction of the previous direction d_; is added to
dy. As for the GM, ay, is chosen to minimize the function gi(«) = f(x + ady) for each k. It should also be
mentioned that (i can be chosen in many ways, the way described above is the Fletcher-Reeves method.



3.4.1 CGM on quadratic functions

If f(z)= %xTAx — 2Tb, where A is S. P. D., the computing sequence becomes:

gr = f'(zx) = Az — b,

do = —go, (first iteration)
_ nggk

B =—F—,

9r_19k—1

(36)

di = =gk + Brdi—1,
o = 9i G

dF Ady,’

Tpy1 = Tk + apdy.
Here it is used that f'(zj) L f'(xx_1) when computing ay. As before we get that:

_ d{(b — Axy) _ (re + ﬁkdkfl)TTk _ T%Tk (37)
dgAdk dgAdk d{Adk '

3.5 Example of GM and CGM on a quadratic function

/
3

-1 -0.5 0

Figure 1: Example of GM and CGM on a quadratic positive definite function.
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Figure 1 shows an example of GM and CGM on the quadratic function f(z) = (z1 +0.2)% + (0.5(z3 —0.2))2.
The contour of f(z) is outlined and the arrows show how the GM and CGM approaches the minimum point

(—0.2,0.2) from the same starting point.
CGM needs at most n iterations to find the exact minimum point for a quadratic S.P.D. function in n

dimensions, given any starting point.
Depending on the starting point and if the quadratic function have elliptic contours, the GM may never

reach the exact minimum point in a finite number of steps.



4 Model problem

Figure 2: Example of the rectangular domain Q in R%. The grey circle shows where a(z) > 1. Boundaries

where n - Vu = 0 are unified into I's.

The model problem used to reconstruct the conductivity is the hyperbolic equation (1) in d = 2,3 dimensions
with absorbing boundary conditions and zero initial conditions. Let Q € R? be a bounded domain where
the conductivity a(z) is a function of . € is assumed to be a rectangle domain in two dimensions, and a
rectangular box in three dimensions. The boundaries to 2 are denoted by I' =T'; UT's UT's, where I'; and
T’y are opposite. The boundaries where n - Vu = 0 are unified into I's, see figure 2 for an example of Q in
two dimensions. The model problem used in computations is defined as:

0%u

u(zx,0)

ou
a(xv 0)

ou
on
ou
an
ou
an
ou
on

=0
=0

=0

= p(t)

ou

ot
ou

ot

=0

The conductivity coefficient a(x) is assumed to satisfy:

a(x) € [1, amaz)
a(z) =1

in Qx (0,T),
in Q,

in Q,

on T'y x (0,t],
on Ty x (¢1,7T),
onI'y x (0,7,

onT's x (0,7).

T €€,

rzel,

for some constant 1 < a4 < dy, where dy is a bound we know a priori.

(38a)
(38b)

(38¢)
(38d)
(38¢)
(38f)

(38g)



5 Forward problem
Determine u(x,t) in (38), when a(z) and p(t) are known.

5.1 Definition of p(?)

The impulse p(t) induces a plane wave propagating from I'y to 'y in the model problem. It is chosen as an
sine wave.

1
0.5
0
0 t,
Figure 3: p(t) plotted for t € [0, t1].
Definition of p(t):
p(t) = sin(wt) Vit € [0,14],
T (40)

for some chosen angular frequency w. Some relations between angular frequency w [rad/s], frequency f [1/s],
speed ¢ =1 [m/s], period time t, [s] and wavelength [, [m]:

w=27f,
P
f (41)
1

6 Inverse problem

Determine the unknown coefficient a(z) in (38), that satisfies (39), given known measurements @(x,t) on
the boundary:
u(z,t) = a(x,t) V(z,t) € T1 x (0,T) (Backscatter data), ()
42
u(z,t) = a(x,t) Y(x,t) €Ty x (0,T) (Transmitted data).
It is enough to have one set of known boundary data to reconstruct the conductivity, but the reconstruction
becomes better given both measurements. In the derivation of Tikhonov and Lagrangian functionals it is
assumed that only backscatter data is known.
In the FEM computer simulations the data is generated by defining a completely known a*(z) that is used
to compute u*(x,t). Noise is then added to the data by:

a(x,t) =u*(z,t) + 0 - P-u"(z,t) VY(x,t) €1 x (0,T) (Backscatter data),

w(z,t) =u"(z,t) +0-P-u"(z,t) VY(z,t) €9 x (0,T) (Transmitted data), (43)

u(x,t) =0 else,

10



where P is some probability distribution and o € [0,1] is the noise level. As an example, P can be the
standard normal distribution or a random uniform distribution with values from [—1,1]. The random variable
P is drawn for each (x,t) where data is collected.

7 Function spaces

Let Q7 = Q x (0,7T) and define the real valued function spaces:
ow
1 p— 1 . = — =
U = {w € H (Qrp) : w(z,0) = T (z,0) 0},
ow
1 = 1 N = -_— = 44
1% {w € H'(Qr) :w(w, T) = - (v,T) o}, (44)

A={wGLQ(Q):1§w§amax,w:10nf}.

8 Variational formulation of forward problem

In this section the variational formulation is derived to the forward problem of finding v € U!, using the
standard Galerkin method, assuming that a(xz) € A is known. First step is to multiply the differential equation
(38a) by the function v(z,t) € V! that has the end-condition v(x,T) = v;(z,T) = 0, then integrate over

Qx(0,7):
T
// @v dzdt — //0 V - (aVu)vdzdt = 0.

Use partial integration on the time-derivative term and that V- (vaVu) = Vv - (aVu) + vV - (aVu), to get:

ou 1T T ou v
/([at”L_o‘ i atatdt)d“// @V Voded
Q
T
—// V - (awVu)dzdt = 0.
0
Q

The first term is zero, since v(z,T) = 0 and us(z,0) = 0. Use Gauss divergence theorem and that ¢ = 1 on

I', to get:
T ou ov T
— — — daxdt . dxdt
/ . ot ot +//0 aVu-Vodx
Q Q

T
ou
— —uwvdsdt =
//0 (’9nv S 0,
r

where 2 Se =mn - Vu. Insert the boundary conditions for u in equation (38d)-(38g) to get:

Ou Ov
7//0 %ot dxdtJr// aVu-Vodxdt
Q
// —vdsdt—i—// —vdsdt // t)v dsdt.

The variational formulation of the forward problem is then to find u € U such that equation (45) is fullfilled
for all v e V1.

11



9 Tikhonov and Lagrangian functionals

Define the Tikhonov functional F(a) = F(u(a),a) as:
1 ’ ~\2 1 2
F(u,a) = 5 (u—u)*dsdt + 57 (a —ap)” d, (46)
0
Q

where @ is the known measurements on the boundary, v € (0,1) is the Tikhonov regularization parameter
and ag is the initial guess of the conductivity.

Alternatively, if there is backscatter and transmitted data available, the integral over I'; is be added for
additional input, and the Tikhonov functional can be defined as:

// )2 dsdt + // (u— @)% dsdt

(47)
+%’y/(a—a0)2 dz.
Q
Define the Lagrangian L(a) = L(u(a),v(a),a) as:
L(u,v,a) (u,a) // gz(;: dzdt+// aVu - Vudzdt
(48)

// vdsdt+// —vdsdt+// —udsdt

where the functions (u,v,a) € U x V1 x A from equation (44). The inverse problem is then formulated as
an optimization problem by minimizing the Lagrangian with respect to (u, v, a).

10 Minimization problem

The minimization problem is to find (u,v,a) € U! x V! x A such that
L(u,v,a) < L(u,v,a) Y(u,v,a) € U' x V! x A, (49)
where L is the Lagrangian functional defined in equation (48). This is done by searching for a stationary point

(u,v,a) that has the Fréchet derivatives g—ﬁ(u,v,a)( 1) =0, BL Z(u,v,a)(v) =0 and 8L Z(u,v,a)(a) = 0.

10.1 Differentiating L(u,v,a) with respect to v

Let (u,v,a) be the stationary point that minimizes the Lagrangian functional and compute:

T
zllL(qurowa // %%d dt+// aVu-Vudzdt
@ 0
Q

// vdsdt+// —vdsdtJr// O dsdr,

where « is some scalar and @ is any function in V!. Let v — 0 to get & oL = (u,v,a)(v) =0, which is:

Ou 0v
7//0 e atd dt+// aVu-Vodxdt
Q
// Udsdt+// —vdsdt—l—// —vdsdt—O

12
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where ¥ is any function in V1. Equation (50) gives the variational formulation for the forward problem, which
is defined as: find u(z,t) that satisfies equation (50) Vo € V1. This is exactly the same as derived in equation
(45). The strong solution to u(x,t) fulfills equation (38).

10.2 Differentiating L(u,v,a) with respect to u

Let (u,v,a) be the stationary point that minimizes the Lagrangian functional and compute:

drL _ r o ou Ov r _
a(quau,v,a)f//O (u+au7u)udsdt7//0 aad dt+//0 aViu - Vudzdt
Iy Q Q
// —vdsdt—i—// —vdsdﬁ—O

where o is some scalar and  is any function in U*. Let a — 0 to get 2% (u,v,a)(@) = 0, which is:

T T
//0 (u—ﬂ)ﬂdsdt—/ ; %%d dt—l—//o a Vv - Vudzdt
Iy Q Q
T — T _
ou ou
— dsdt — dsdt =
+//t1 U@t s —|—//0 v@t s 0,
I s

where @ is any function in U! that fullfills the boundary conditions in equation (38d)-(38g). Equation (51) is
the variational formulation for the adjoint problem of solving v(z,t).

(51)

10.2.1 Strong solution to the adjoint problem

The strong solution to the adjoint problem can be found by rewriting the time-derivative terms in equation
(51), using partial integration and initial conditions for v and @, so that:

T T 52, T

// (u—ﬂ)ﬂdsdt+// Wﬂdxdt—!—// aVv - Vudzdt
0 0 0

Ty Q Q

i (52)
// 0udsdt — // —udsdt— // —udsdt— // Oudsdt = 0.
t1 FS 0
Identify the boundary conditions for = and let z5(x) be a cut-off function with the property:
/fz(sdx:/fds. (53)
Q I

Then equation (52) is simplified to:

T T % T T v
//0 (u—1a) Z5ﬂdxdt+//0 ﬁﬂdxdt—i—//o aVv-Vﬂdxdt—//O 8—nﬂdsdt=O. (54)
Q Q Q r

Use Gauss divergence theorem and that —V - (auVv) = —aVu - Vv — a V - (aVv) and simplify to:

// u—1 Z5udxdt+// udxdt // V- (aVv)udzdt =0, (55)

13



which implies that the strong solution to v(z,t) fulfills:

0% - .
w—V-(aVu):—(u—u)z[; in Q x (0,7),
v(z,T)=0 in €,
%(I,T) =0 in £,
v
% =0 on Fl X (O,t1]7 (56)
ov  Ov
ain:& on Fl X(tl,T),
ov Ov
ot on 'y x (0,7),
v
a—n:O onI's x (0,T).

10.3 Differentiating L(u, v, a) with respect to a

Let (u,v,a) be the stationary point that minimizes the Lagrangian functional and compute:

dL

T
d—(u,v,aJrozz_z):’y/(a+ad—a0)&doj+// aVu - Vudzdt,
« 0

Q

where « is some scalar and a is any function in A. Let @ — 0 to get %(u,v,a)(&) = 0, which is:
T
// (Vu - Vv)adzdt + ’y/(a —ap)adr =0, (57)
0
Q Q

where @ is any function in A. Equation (57) is the variational formulation for solving a(x).

10.3.1 Strong solution to the conductivity coefficient

Clearly the variational formulation in equation (57) corresponds to the strong solution of a(z) that fulfills:

T
/ Vu-Vudt+v(a—ag) =0 Va € Q,
0

a('x) € [Lamax] Vx € Q, (58)

alz) =1 vr eI

where (u(a),v(a)) € Ul x V1 are the stationary points that minimizes the Lagrangian functional. Define the
functions h(z) and g(x) as:
T
h(z) = / Vu - Vodt,
i (59)

T
g(x) = / Vu - Vudt+v(a — ag).
0

14



11 Finite element function spaces

The weak solutions to the three variational formulations in equation (50), (51) and (57), are approximated by
choosing functions that are continuous piecewise linear, and piecewise constant, over the discretized domain
Q% (0,T).

Let K}, denote the discretized domain of Q € R, which consists of adjoint triangles when d = 2 and
of tetrahedra when d = 3. Each subset (triangle or tetrahedra) K; is known as an element to K}, so that
K, = U§=1 K;. The triangulation K} consists of ¢ elements and have m nodes.

Let J- denote the discretized interval of J = [0, T, with constant step-size 7 =t; —t;_1 Vj € {2,...,n}.
Jr have n nodes, and each sub-interval J; = [t;_1,t;] for j € {2,...,n} are known as elements to J.

Let P, (K}) denote the set of all functions that are continuous piecewise linear on K and let Py (J;)
denote the set of all functions that continuous piecewise linear on J.. Let Py(K}) denote the set of all
functions that are piecewise constant on K. Define the finite element spaces used for approximating the
weak solutions as:

Ul = {w e U :we Pi(Kp) x Pl(JT)},

Vil = {w eV':we Py(Ky) x Pl(JT)}, (60)

Ap = {w cA:we Po(Kh)}.

In the FEM we choose approximating functions u(z,t) ~ up(z,t) € U}, v(x,t) ~ vp(x,t) € V;! and
a(x) =~ ap(x) € Ap. The approximated functions are written shortly as an superposition of basis functions:

up(z,t) =Y > ugdi(@)e;(t) = ¢"Up,

i=1 j=1

m n

vz, t) =Y Y vidi(x)es(t) = ¢V, (61)

i=1 j=1
q
ap(z) = Zaknk(m) =nTa,
k=1

where {¢;(x)}72, is the set of linear basis functions on K with m nodes, {¢;(t)}7_, is the set of linear basis

functions on J; with n nodes and {n;(x)}{_, is the set of constant basis functions on K}, with ¢ elements.

In the notation above, ¢, ¢ and 7 are vectors defined as ¢7 = [¢1(2), ..., dm(2)], ©T = [P1(t), ..., Pn(t)]

and n?' = [n1(z),...,ny(x)]. The m x n matrices U, V and ¢ vector a contains the nodal values to the basis
functions. The constant basis functions 7;(z) on K}, are defined as:
i\L) =

The linear basis functions ¢ on K}, € R2, and linear basis functions pon J; €R, and resulting FEM matrices
used in numerical computations are explained in more detail in the appendix.
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12 Finite element approximations to the variational formulations

In this section the equation systems for approximating solutions of the variational formulations are derived, by
substituting the functions uy, vy and ay, that are spanned by piecewise linear and piecewise constant basis
functions as described earlier, into the three variational formulations.

By choosing the arbitrary functions u, v as one of the pair ¢;(x);(t), and @ as one of the n;(x), in each
respective set of basis functions, it is shown that the variational formulations in equation (50), (51) and (57)
gives m X n and ¢ equations from where the nodal values to uj, vy and a; can be solved. The resulting
equation systems can be written shortly with matrix-matrix multiplication, using the matrices and vectors
defined by:

Ml = / or(z)¢i(z) do (global mass matrix on Kj),
Kh
kix = / a(x) Vg (x) - Vo (z) da (global stiffness matrix on Kp),
Ky,
ml(-,i) = / or(z)pi(x) ds (mass matrix along T'y),
1]
mf-i) = / or(z)di(z) ds (mass matrix along T'y),
T
b; = / oi(x)ds (vector along T'y),
a (63)
T
T}l :/ 1 (t)p;(t) de (global mass matrix on J;),
0
t1
7‘2) :/ i (t)p;(t)dt (“partial” mass matrix on J.),
0
T
cj| = t)p;(t)dt obal convection matrix on J;),
= [ e (global convection matrix on .,)
0
T
cg.}) :/t @) (t)p;(t)dt (“partial” convection matrix on J;),
T
Sj1= / @ ()¢ (t) dt (global stiffness matrix on J;),
0

where i,k € {1,...,m} and j,l € {1,...,n}.

The basis functions and matrices are computed in detail in the appendix, for J, € R and K} € R?. When Q
is a square domain in R2, the mass matrices along I'; and I'y are analogue to mass matrices in one dimension,
with non-zero entries corresponding to nodes that are on I'; or I's. All the matrices are symmetric except
convection matrices C' and (.
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12.1 Finite element approximation to the forward problem

Let u = uy, be spanned by the two sets of basis functions, let v be each pair of those basis functions and
interpolate p(t) into p = p,, so that:

> urigr(x

Ms

k=1 1l=1

n (64)
p-(t) =) mpi(t) = p(t),

=1
v(z,t) = ¢i(x)p;(t) ie{l,....,m}je{l,...,n}.

Insert the approximations into equation (50), the variational formulation for u, and simplify to get m x n
equations. We get that for each i € {1,...,m} and j € {1,...,n}:

*ZZuM/m o)z [ 00

k=11=1

T
33 [ o) Vo) Vo) de [ g ar

k=11=1 K,

+Zzw/¢k outa)ds [ ety ) (65)

k=11=1 ty
+ o (@) (x) d (1) dt
;;um'/ k(@ 8/0 @1 (t)p;(t)

= l;pl F[ ¢i(x)ds /0 ©1(t);(t) dt.

Identify the matrices and vectors from equation (63) and write the equation system in (65) as

S ( Mg w81 + Kok w71+ M) wgg C( b m g C;z) Z bipu ?"Jl ; (66)
k=11=1
for each i € {1,...,m} and j € {1,...,n}, which can be written shortly using matrix-matrix multiplication
as:
—~ MUS + KUR+ MyUCT + MoUCT =bp™R;. (67)
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12.2 Finite element approximation to the adjoint problem
Let vp,, up, Gy, be spanned by the two sets of basis functions and chose @ as each pair of ¢;(x)¢;(t), that is:

m

vp(x,t) = Z

v ()i (t),

NE

k=11=1
un(z,t) = > Y undr(@)ai(t),
k=11=1 (68)
an(w,t) =Y dndr(@)ed),
k=11=1
a(z,t) = ¢i(z)p;(t) ie{l,...,m}je{l,...,n}.
The functions u;, and @ are assumed to be known. Insert the approximations into equation (51), the
variational formulation for v, to get m x n equations. We get that foreach ¢ € {1,...,m}and j € {1,...,n}:

M=

-3

/ ou(2)u(x) da / ()2} (1)t

Ky

H
Il
-

T
ot [ alo) Voula) - Voulrds [ abesoar

4
.Mg
M=

k=11=1 K
m n T

#3030 [ a@antords [ et di (69)
k=11=1 p t1

+

NE
M:

o~
Il
—
Il
—

T
/ o ()i () ds / ()} (1)
Iy

3

—11=1 0

=3 (i) / or(2)65(z) ds / u(t)p; (1) .

1

Identify the matrices and vectors from equation (63) and write the equation system in (69) as:

Z Z ( — Mk Vit S51 + Kk iy 71 + mfi) Ukl Cl(;) + mz(-i) Ukl Clj) = - Z Z ml(-;i) (ukt — art) 51, (70)

k=11=1 k=11=1
for each i € {1,...,m} and j € {1,...,n}, which can be written shortly using matrix-matrix multiplication
as:
~MVS+KVR+ MVC, + MVC = —M,(U — U)R. (71)

Note that the convection matrices C; and C are not transposed.

If there is also transmitted data available, so that the Tikhonov functional uses both backscatter and
transmitted data, the equation system gets the additional term — M5 (U — ﬁ)R on the left hand side and can
be defined as:

~MVS+ KVR+ MVC, + MVC = —(M, + M) (U — U)R. (72)

The m x n matrix U — U can be defined as having zero-rows corresponding to the nodes where no data is
collected.
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12.3 Finite element approximation to the conductivity coefficient

Let a;, and initial guess ay be spanned by the set of piecewise constant basis functions on Kj. The function
hy(x) is piecewise constant in each element because wy, and vy, are continuous piecewise linear on K}, meaning
that h(z) =~ hp(x) can be defined by:

hiz/Vuh-Vvhdt xeK; forie{l,... q}. (73)
Jr

Chose a(x) as one of the piecewise constant basis functions 7;. The functions are then defined by:

ap(z) = Zaﬂ?j(x)’
ao(z) = > al”n; (@),
j=1

hu(z) = thj(x),

a=mn;(x) ie{l,...,q}.

Insert the approximations into equation (57), the variational formulation for a, to get ¢ equations that are
simplified to:

Sty [ m@m@rds 4y (0 - al”) [ @mtdr=o. 75)

for each i € {1,...,q}. Define the symmetric matrix E by:
€ij = / nj(x)ni(x)dx 4,5 €{1,...,q}. (76)
Kh

Clearly we have that E is diagonal since n;m; = &;;. When K, € R?, ¢;; equals the area of element K;
and when K; € R? it equals the volume of element K; . The equation system can be written shortly as
Eh +vE(a — ag) = 0, which is simplified to:

h+~(a—ag) =0. (77)

It might seems unnecessary to go through these steps, but if basis functions of higher order are chosen to span
Up, Uk, ap, the result will differ. The result will also differ if ap, is chosen from P;(K7}), the set of continuous
piecewise linear functions on K.

19



13 Solving the finite element system of equations

The two FEM equations (67) and (71) for m x n matrices U and V' can be solved column-by-column by the
steps described below. The FEM equation (77) for g vector a can be computed once U and V are solved.

The general idea in solving U and V' is to multiply in the j:th column of the tridiagonal n x n mass-,

convection- and stiffness-matrices of J, into U = [uy,...,u,] and V = [v1,...,v,], and then solve the
linear system of equations that arise, using standard methods such as Gaussian elimination or Cholesky
decomposition. Let j € {1,2,...,k—1,k,k+1,...,n—1,n} where k is the node number corresponding to

the time ¢; in the forward problem, which is the end-time for p(t). We then have that:

(~MU)s; + (KU)r; + (M) [CT); + (M) [CT); = (bp" )P,

. (78)
(—~MV)s; + (KV)rj + (MiV)el + (Mav)e; = (=M (U — 0))ry,

for each j:th column vector, where [CT]; and [CT]; denotes the j:th column of the transposed convection
matrices.

The first column vector u; = 0 in U is known because of initial condition u(x,0) = 0, the other columns
in U are computed by increasing j upwards from 1. All the column vectors in U can be computed for any
given conductivity coefficient a, the exact or reconstructed. The only m x m matrix that is dependent on
conductivity a is the stiffness matrix K.

The last column vector v,, = 0 in V' is known because of end condition v, (z,T) = 0, the other columns
in V are computed by decreasing j from n. V is dependent on U — U and can be computed once U is fully
determined for the given conductivity a.

In the numerical examples the measured data U on the boundary is generated by computing U*, using
the exact conductivity a*, with noise added according to equation (43).

13.1 Computing the columns in U

Compute the sequence of column vectors ug, us, ..., u, by solving w1 in the following steps:
stepl. j=1
72 T
= M(uj = ujr) + K (2uj +ujrn) + 5 Ma(—uy + uj)
(79)
72
=502 +pjs1)-
Use that up(x,0) = 0 = u; = 0, and simplify to:
(M+T2K+TM> T2b(2 pis1)
— - Ujrl = — ; i11) -
6 92) Ui T g R TP (80)
—_——
As fi
Identify matrix A3 and vector f;; ujy1 can be solved from L.S.E:
Asujpr = fj. (81)
step2. Vji=2,...,k—1
72
—M(—ujo1 + 205 — uji1) + o K (ujo1 + duj +ujga)
(82)

2
T T
+§M2(*Uj—1 + Uj+1) = Fb(pj_l +4p; Jrpj%—l)-
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Simplify to: , ,
(n+ K- %Mg) wioy+ (- 2M + %K) u

Aq Az

2

7—2 T T
— K+ §M2) Ujp1 = gb(pjﬂ +4pj + pjv1) -

+ (M4

As fi

Identify matrices Ay, As, A3 and vector f;; u;41 can be solved from L.S.E:

Ang+1 = fj — A17.Lj_1 - AQU]“ (84)

step 3. j =k
2

-
—M(=uj-1 + 205 = uji1) + o K (ujo1 + duj + ujga)

2
T T T
+§Ml(*uj + i) + §M2(*Uj—1 +uji1) = Eb(pj—l + 2p;).
Simplify to:

2 472
(M+ K = 20) o+ (—2M+ K - 20 ),

Al AZ

7_2 T 7'2
+ (M + 5K+ (M M2)) Uujt1 = "= b(pj-1+2p;) .
——/™
A fi

Identify matrices A;, As, As and vector f;; w41 can be solved from L.S.E:

Aguj*+1 = fj — Aluj,l — AQ'U/J‘. (87)

stepd. Vi=k+1,...,n—1

2
-
—M(—Uj,1 + QUJ‘ - ’u]‘+1) + EK(UJ;I + 4’U,j + UJ+1)
(88)
T T
+§M1(—Uj_1 + Uj+1) + §M2(—’UJJ'_1 + Uj_H) =0.

Simplify to:
2 4 2
(M—|— %K — g(M1 +M2)> uj_1 + (— 2M + %K) Uj

Al A2

2

+ (M + %K + %(M1 + MQ)) Ujt1 = 0.

As

Identify matrices Ay, Az and As; uj4+1 can be solved from L.S.E:

Ang+1 = 7A1Uj_1 - AQUj. (90)

Note that M is sparse symmetric positive definite band matrix and K, My, M5 are sparse symmetric positive
semi-definite band matrices. Therefore Az is sparse S.P.D. band matrix in all four steps for computing all
columns in U.

21



13.2 Computing the columns in V

Define F =U - U = [f1,---,fn]. Compute the sequence of column vectors v,,_1,v,_2,...,v; by solving

v;j_1 in the following steps:

stepl. j=n
2

—M(—vj_1 +v;) + %K(Uj71 + 2v;)

2
T T
+g (My+ M) (vj-1 + vji1) = == Mi(fj—1 + 2f)).
Use that vy (2,T) = 0 = v, = 0, and simplify to:

7_2 T 7—2
(M + EK + §(M1 + Mz)) vj_1 = *EMl(fj—l +2f5).

Ay cj
Identify matrix A; and vector ¢;; vj_; can be solved from L.S.E:
Al’l)j,1 = Cj.

step2. Vj=n—1,....k+1

2
.
,M(*’Uj_l —+ 2'Uj — ’Uj+1) —+ EK(Uj_l —+ 4’Uj —+ ’Uj+1)

2
T T
+§(M1 + M) (vj—1 —vjy1) = ——Mi(fj—1 +4f; + fi+1)-

6
Simplify to:
(M ¥ %ZK + %(M1 ¥ M2)) Vit + (— M + %TQK) v;
Ay Az
7—2 T 7—2
+ (M—i— T~ §(M1 + M2)) Vi1 = —FMl(fjﬂ +4f;+ fiv1) -
As M

Identify matrices A;, Az, A3 and vector c;; vj_; can be solved from L.S.E:

Alvjfl =C; — Ag’l)j — A3uj+1.

step 3. j =k
2
-
_M(—’l}j,1 + 21)]' — Y)j+1) + FK(vjil + 4’Uj + 'Uj+1)
T T 72
o Mi(=vj = v1) + 5 Ma(vjo1 = V1) = = Mi(fi-1 + 45 + fiv)-
Simplify to:
72 T 472 T
(M4 5K+ 50 ) vjos (= 2M + =K = 20 v,
A1 A2
72 T 72
+ (M—i— T~ §(M1 + M2)) Vi1 = —FMl(fjﬂ +4f;+ fiv1) -
Az cj

Identify matrices A;, Az, Az and vector c;; vj_; can be solved from L.S.E:

Alvjfl =C; — Ag’l)j — A3uj+1.
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stepd. Vi=k—1,...,2

2
.
~M(=vj1+ 205 = vj1) + K (-1 + 40+ vj4a)
(100)
T ’7—2
o Ma(vj-1 = vjs1) = — = Mi(fi—1 + 4 + fis1)-

Simplify to:
72 T 472
(M+ EK—’_ §M2) Vj—1+ (—2M+ ?K) v

A Az
) (101)

'7—2 T T
+ (M t K- §Mz) Vi1 = =g Mi(fi-1 + 455 + fiv) -

As cj

Identify matrices Ay, Aa, A3 and vector ¢;; vj_1 can be solved from L.S.E:

Al’l)j,1 =Cj — AQUj - A3’U,j+1. (102)

Note that M is sparse symmetric positive definite band matrix and K, My, My are sparse symmetric positive
semi-definite band matrices. Therefore A; is sparse S.P.D. band matrix in all four steps for computing all
columns in V.

If both backscatter and transmitted data are used, then M; — (M + My) in the terms for computing c;.
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14 Minimization methods applied on FEM solutions

This section derives some of the functions and parameters that needs to be computed so that fixed point
iterations (FPI), conjugate gradient method (CGM) and iteratively regularized conjugate gradient method (IR-
CGM) can be implemented on the minimization problem. The algorithms are then defined for the minimization
problem in section 15. The FPI and CGM are described for general real valued functions f(z) : R” — R in
section 3. To implement these algorithms on the Lagrangian functional we need to identify a fixed point, and
be able to determine step-sizes in the gradient methods.

The functional that is minimized to solve the inverse problem is the Lagrangian L(u,v,a), defined in
equation (48), with respect to a. The functions (up,vs,ap) € Ul x V! x A}, are chosen from the approximate

function spaces defined in equation (60), and computed using FEM as described in the previous section. Let

ag,a* € A denote the initial guess and exact solution respectively. The sequential solutions to ué ), vék)

and aék) are determined by the nodal values in the m x n matrices Uy, V}, and by the element values in the

q vector ay, such that:
g (@ zzu §(t) = () Uep,

=1 j=1

k

o (x ZZ% $i(2)p;(t) = ¢" Vi, (103)
=1 j=1

a’h ZCL( )77k = nTakv

Define the sequential ¢ vectors hy and g by:

WP (2 / vul? . ol dt = T hy,

(104)
g,(Lk) / Vuh (k) dt + 'y(aflk) —ag) =" gr.
Define the scalar product (f,g) of two real valued functions, and the L-2 norm || f||z,, by:
9) = / fygdz,
Kp, (105)

1£17, = (£ ).

The scalar product of two piecewise constant functions such as ap(z) = n(z)Ta, hy(z) = n(x)Th can
easily computed using matrix multiplication. As before, n(z)7 is a vector containing the piecewise constant
functions for each element, and a, h are constant vectors containing the constant value of the coefficients in
each element. The scalar products are then computed as:

(an(x), hn(2)) = (a"n(x),n(2)"h) = o’ (n(x),n(x)")h = a” Ah, (106)

where A is a diagonal symmetric positive definite matrix, where elements a;; are defined by:

W / e area(K;) ifi=j,
ij 57 0 if i, (107)
Kp

for Kj, € R2. If Kj, € R3, then a;; = volume(K;). As before, K; denotes the i:th element of the discretized
domain Kj,.
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14.1 Fixed point to Lagrangian

Algorithm of fixed point iteration can be applied to the minimizing problem using equation (77), which states
that g(z) = 0 on the stationary point that minimizes the Lagrangian functional. By rewriting the equation

we get that:

1
a* =ag — ;h(a*) v € (0,1], (108)

which clearly is a fixed point to ag — h(a)/y = f(a). The FPI sequence ax1+1 = f(ay) converges to a if f is
Lipschitz continuous, which depends on K}, J;, p(t), ap and «y. The regularization parameter -y acts as an
step-size and is chosen as v = 1, otherwise the sequence will diverge. Assuming that each ag4; gets closer
to the exact a*, let agp — ay, be the last guess. The the FPI is to compute the sequence:

ag+1 = A — hk, (109)

until convergence criteria is satisfied.

14.2 Gradient methods applied on Lagrangian

In both the gradient method (GM) and conjugate gradient method (CGM), the sequence of a1 is computed
by ag+1 = ai + aidy, where the step-size o, € (0, 1] is chosen so that aj = argmin{L(ug, vk, ar + ady) :
a > 0}, and dj, is the chosen direction.

In the gradient method dj, is chosen as the steepest descent dy, = f%(ak) = —gi, and in the conjugate
gradient method a fraction 8 € (0, 1] of the last direction is added so that dy, = —gi + Brdr—1.

Let G(«) = L(u, v, a + ad), then the step-size that minimizes G(«) can be estimated “directly” for any
given (u,v,a,d), if we assume that u and v are not dependent on a. Using the definition of L(u,v,a) in
equation (48), the functional G(«) is defined as:

T 1

G(a) :// (a + ad) Vu - Vodzdt + 57/ (a+ ad — ag)* dz + T(u,v), (110)

0
Q Q

where T'(u,v) is a collection of the terms not dependent on ad. Differentiate by « to get:

dG 4
—:// qu-Vvdxdt+'y/(a+ad—ao)ddx:0 (111)
da 0

Q

Q

Use the definition for h(z) and simplify to:

/hddx—i—’y/(a—ao)ddx—i—wa/dddsz (112)
Q ) Q

Use the notation (-, -) for scalar products, we get an estimate for the o that minimizes G(«) as:

oo (hd) :(Vd(,ad)_ ap,d) _ _'y((gc;,dcz) 5 e (0,1], (113)

for any given (u,v,a,d).

When deriving « for a real valued quadratic function f(z) in the appendix, it is known that f’(z) and
f'(xr—1) are orthogonal so that (f'(zy), f'(xx—1)) = 0 for all k. But no such assumption can be made for
gradients g and gx_1 from the Lagrangian functional, since v and v changes for each a.

For the CGM method the fraction S is chosen as:

By = gk |7, _ (gr> 9r) (114)
lgr—1llZ,  (9r—1,9%-1)

Since the gradients g; and gx_1 can not be assumed to be orthogonal, or that ||gk||z, < |lgk—1]L,, it might

happen that 5 > 1 for some k. | observed this when running the CGM algorithm and subsequently the
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sequence diverged to |lak| L, — oo. To get around this problem, it is sufficient to limit 3 € (0, 1]. Once 3 is
always less or equal to one, the step-size a;, will always be non-negative. Therefore define 85 and «ay, as:

= min{(g:giff:)l)’l}’ .
. ,d
Qp = mln{ — f}/((gcllck7(§:)’ }

The step-size needs to be limited from above too, since it is divided by ~.
If we can assume that each computed ay41 gets closer to a* for each iteration, we can let ay be the last
guess ap_1, so that gradient gy is updated by:

gk = hi +y(ak — ag-1) k=1,2,...,
(116)
9o = hy (first iteration).

This works quite well for nice problems with low noise.

14.3 Iteratively regularized gradient methods applied on Lagrangian
On the CG and CGM, the Lagrangian can be iteratively regularized by choosing a sequence of regularization
parameters {74} that slowly converges to zero, using the rule:

"= N qo.p,€ (0,1], (117)

kE+1)p
and computing gradient g = hi + Yk (ar — ap). This ensures that the Tikhonov term in the functional tends
to zero for large k:s, instead of some positive constant. The step-size «y, is computed in the way described
in equation (115) for each .
For theory behind choosing the sequence of regularization parameters, see section 2, that describes general
theory about ill-posed inverse problems, and [6, 11].
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15 Iterative algorithms for solving inverse problem

In this section we describe in detail the iterative algorithms which are used to reconstruct the conductivity.
The algorithms use the assumption that a(z) > 1, the known lower bound from equation (39), when com-
puting aj41, so that agyq is always in the feasible set. It is not necessary to round off entries in agq for
convergence, the algorithms work just as well without it, but the reconstruction will be better for low num-
bers of iterations. The initial guess is usually ag(x) = 1, which should be a qualified guess close to the exact a*.

The CGM have two ways of computing the gradient g;. It can be computed using last vector a;_1 instead
of ag, which implies that the ~|lax — ax—1]||z, term in the Tikhonov functional tends to zero for problems
with good convergence, because |jay — ai—1]] = 0 as & — oo for any constant v. CGM with gradient
gk = hi +v(ar — ag) is denoted CGM (1), and with g = hy, + y(ar — ax—1) denoted CGM (2).

The IRCGM algorithm is just as CGM, except that the regularization parameter ~y;, is iteratively updated
so that 7, — 0 as k — oo, forcing the i[lax — aol|z, term in the functional to zero as k — oco.

15.1 Fixed point iterations (FPI)

step 0. Given input data of measurements on the boundary (42), choose mesh K, partitioned time interval
J- and initial guess ag(z) that fulfills the assumptions in (39). Let £ = 0 and ay = ag be the vector
representing the discretized conductivity. Compute the sequence of a; by the following steps.

step 1. Compute the FEM solution Uy using ay.
step 2. Compute the FEM solution to adjoint problem V}, using aj and Uy.
step 3. Compute hy.

step 4. Compute apy1 by:
ag+1 = ax — hg

and use the assumption that a(x) > 1 to round off any entries in the vector a1 smaller than one.

step 5. Check convergence criteria: if |hF |, < @ is satisfied for some chosen tolerance 6, then let ay(z) =
n(z)Tay41, else increment k by one and go to step 1.
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15.2 Conjugate gradient method (CGM)

step 0. Given input data of measurements on the boundary (42), choose mesh K, partitioned time interval
J- and initial guess ag(z) that fulfills the assumptions in (39). Let £ = 0 and ay = ag be the vector
representing the discretized conductivity. Choose a constant v € (0,1]. Compute the sequence of ay
by the following steps.

step 1. Compute the FEM solution Uy using ay.
step 2. Compute the FEM solution to adjoint problem Vj using a; and Uy.
step 3. Compute hy.
step 4. Compute gradient g as:
hi + v(ar — ao) CGM (1),
9k =
hk + ’y(ak — ak_l) CGM (2),

where CGM (1) is standard and CGM (2) is iteratively updated Tikhonov functional, go = ho (first
iteration).

step 5. Compute [y as:

o (9k» 9k)
Ar = min { (gk—hgk—l) ’ 1}7

where 8y = 0 (first iteration).

step 6. Compute the descent direction dj, as:

dy, = —gi + Brd_1,
where dy = —go (first iteration).

step 7. Compute the step-length oy, as:

(gk, dr) 1}.

ap = mln{ — 7’7(dk,dk)7

step 8. Compute a1 by:
a1 = O + agdy

and use the assumption that a;4+1 > 1 to round up any entries in the vector smaller than one.

step 9. Check convergence criteria: if ||gi||L, < 0 is satisfied for some chosen tolerance 6, then let aj(x) =
n(z)Tayy1, else increment k by one and go to step 1.
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15.3 Iteratively regularized conjugate gradient method (IRCGM)

step 0. Given input data of measurements on the boundary (42), choose mesh K, partitioned time interval
J- and initial guess ag(z) that fulfills the assumptions in (39). Let £ = 0 and ay = ag be the vector
representing the discretized conductivity. Choose a constant 7o € (0,1] and p € (0,1]. Compute the

sequence of a by the following steps.

step 1. Compute the FEM solution Uy using ay.

step 2. Compute the FEM solution to adjoint problem Vj using a; and Uy.

step 3. Compute hy.

step 4. Compute 7 and gradient gj as:

__
= ke

9k = hi + ve(ar — ao),
where gg = hq (first iteration).

step 5. Compute 3} as:

. (9K, 9r)
Py = min { (Gr-1,95-1)" 1}’

where By = 0 (first iteration).
step 6. Compute the descent direction d as:
d = =gk + Brdk-1,
where dy = —gq (first iteration).

step 7. Compute the step-length oy, as:

. (gr, dx) }
ap =miny — ————,1;.
: { Vi (dk, di)
step 8. Compute a1 by:
k41 = a + ogdy,

and use the assumption that a;+; > 1 to round up any entries in the vector smaller than one.

step 9. Check convergence criteria: if ||gx||z, < 0 is satisfied for some chosen tolerance 0, then let aj,(z) =

n(z)Tay41, else increment k by one and go to step 1.
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16 Numerical studies

The four iterative algorithms are compared by applying them to two case studies. The computer simulations
are performed in Matlab on a single processor, using a computer with Intel i5-2500 CPU (3.30 GHz), 64-bit
system, RAM 8.00 GB.

The first case uses a coarse mesh and simple piecewise constant conductivity, it takes about 1 minute to
perform 1000 iterations. The second case uses a fine mesh and more complicated conductivity, it takes about
30 minutes to perform 1000 iterations. Of interest in the case studies is to compare how good reconstruction
it is possible to get when:

e using both backscatter and transmitted data without any noice.
e using only backscatter data and varying the noise levels.

The input data is generated using the same mesh K} x J, in space and time, which is a variational crime.
This means that there is no mismatch between the model used to generate @ on the boundary and the model
used to reconstruct the conductivity. If @ are from a real life measurement of an object, then there is always
an mismatch between the two models, which depends on noise added from measuring equipment, mesh Kj,
time step 7 and small terms that are neglected or considered constant in the model problem described in
equation (38).

Since the same mesh is used for generating the measured data with exact conductivity, and reconstructing
the conductivity in the inverse problem, there is no difference between the two models, and it is possible to
get extremely good results when no noise is added to .

| tried generating the measured data for case 1 using a finer mesh, and a coarser mesh in the minimization
problem, but to get good results both meshes have to be extremely fine, which significantly increase the
computational times needed.

When noise is added, there is a mismatch between the model used to generate the boundary data and the
model used to reconstruct the conductivity. That is, the variational crime is avoided by introducing statisti-
cally generated noise to @ as described in (43). The chosen probability distribution for the numerical studies
is the uniform distribution with values from [—1, 1], amplified by noise levels o € {0.00,0.03,0.10,0.20}.

The parameter p used to compute the sequence of regularization parameters in equation (117), is set to
one in all the iteratively regularized schemes, to ensure fastest possible convergence. In both cases the exact
conductivity a* € Ay, is completely known and the error norm ¢, = ||ar, —a*|| L, can be computed for each k.
You would not know a* in an real life application, but it is used here to evaluate the efficiency of the iterative
algorithms.

30



17 Case 1

Use a coarse mesh on the square domain © = [0, 2] x [0, 4] with two enclosures where the exact a* = 4 inside
and a* = 1 else. The mesh and exact a*(x) are shown in figure 4.

4 4
3.5
3
3
2 25
2
1
1.5
0 1
-1 0 1 2 3
(a) Piecesewise constant a*(z). (b) 3D view.

Figure 4: The triangulated domain K}, with a contour plot of a*(z) on it. Each “square” in the mesh is
determined by step lengths h, = h,, which is divided into four triangle elements.

The parameters used to generate the mesh are:

L, =2 [m],
Ly =4 [m]v
Ng =7 (number of points in x-direction),
ny = 13 (number of points in y-direction), (118)
n, = 163 (number of nodes),
ne = 288 (number of elements),
L; 1
hy = hy = == .
v =1 3 [m]
The time dependent parameters used to generate the FEM solutions are:
3
T=3L;=3 [s],
2 1
- bl
! 3hy s
1
t1 = — [8],
2
f (119)
_h [s]
=10 8],
ng=—+1=121 (number of time nodes),
T

p(t) = (6 + %) sin(2m ft).

The frequency f is chosen so that the L, /h, = 1.5, where the wavelength L,, of p(t) is computed by L, = ¢/ f
[m]. The end-time T is chosen to give enough time for a wave, with speed ¢ = 1 [m/s], to propagate through
the length L, of the domain and bounce back from the enclosures. This is easy to verify visually once u}; (x,t)
has been computed. For large enough time T', we have that u} (x,T) is approximately constant.
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To get a better convergence, the impulse p(t) is amplified p(t) = csin(2n ft), so that uj(z,T) ~ 1. If
uj (z,T) is very small, the gradients are miniscule in the iterative schemes, and if u} (z,T') is very large, the
gradients are to large.

The constant is found by firstly computing u} (z,t) with p(t) = sin(2n ft), and estimating u} (z,t) ~ b.
Then define a new impulse as p(t) = (1/b)sin(27ft) and compute the FEM solution using the amplified
impulse. The shape of the wave remains the same, but now u} (z,T) =~ 1.

In the first simulation, the conductivity a(x) is reconstructed using backscatter and transmitted data
t(x,t) from boundary I’y and I'y, without any noise added. To do so, | run 10 000 iterations of each
algorithm, noting the results when | gx|/z, < @ for § = 1072,1073,107%,... and so on until & = 10000.

In the second simulation, the conductivity is reconstructed using only backscatter data with noise level
o € {0.00,0.03,0.10,0.20}. To do so, | run 10 000 iterations of each algorithm and present the aj, closest to
a*, where k£ might be smaller than 10 000 if the sequence diverges.

It requires about 10 minutes to compute one 10 000 iterations in Matlab with this coarse mesh. The
parameter p used to compute 7y, in IRCGM, is set to one in all the simulations to get the fastest possible
convergence rates.
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17.1 Results using backscatter and transmitted data without any noise

The results of the simulations can be seen in figures 6 to 10.Error norms versus number of iterations are
shown in table 1 and figure 5.

bl N
= -

-~

---FPIL ¢;

1074 H/—FPL || R
CGM(1): e
CGM(1): (g

---CGM(2): &

B L
1071 | —CcGM(2): ||gx
- -IRCGI\/I EL
—IRCGM: ||gx
108 | | |
10° 10’ 102 107 10°

k number of iterations

Figure 5: Logarithmic plot of the error norm &5 and gradient norms ||hg|/L,, ||gkllL, versus the number of
iterations k for the four algorithms. Both backscatter and transmitted data are used without any noise.

The inverse problem has a good convergence in case 1, when both backscatter and transmitted data are
used. All algorithms converge to a* or stabilizes near a*. It appears that it is possible to reconstruct a to any
desired degree of accuracy using FPI, CGM (2) or IRCGM, with CGM (2) being the fastest.

CGM (1) is the only iterative method that does not converge to a*, but to a point near a*. This is because
of the constant regularization term ~|ax — aol|7,/2 which limits the reconstruction to a neighbourhood near
ag. The gradient and error norm stabilizes around 100 iterations for CGM (1), and the algorithm is not able
to compute any better reconstructions, meaning that aigg and aigogo are largely the same. The regulariza-
tion parameter v determines how close the reconstructed conductivity field can get to the exact, and the
number of iterations needed before the norms stabilizes. As v — 0, the norms tend to zero. For CGM (1),
~ = 0.001 is chosen smaller than for the other algorithms, so that the norm of g, is able to become smaller
than 1072 If v is set even lower, the curves for CGM (1) in figure 5 will follow those of IRCGM until the
norms stabilizes. The reconstructions, in figure 7, are however adequate to make predictions of the shape and
numerical values of the exact a*. The enclosures where a* > 1 are clearly outlined, with an average around 3.5.

The simplest algorithm FPI gives good results, clearly ar — a* as k — oco. FPIl is slow but steady,
compared to the conjugate gradient methods. This is because FPI has no line-search, where the optimal
step-size «y, is computed, nor any fraction of the previous direction added to the gradient. After around 300
iterations, the reconstruction is better then that of CGM (1), but worse then that of CGM (2) and IRCGM.
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When k is large, the value and convergence rate of the gradient norm are comparable that of IRCGM, and the
error norm has about the same convergence rate as IRCGM. The reconstructions, in figure 6, are very good
and almost exact for large k:s. The enclosure where a* > 1 is clearly visible in all the subfigures. Around 700
iterations is needed to make a qualified guess of the numerical value inside the enclosure.

Method 0 k HthLz Ek4+1 figure
1072 229 1.0-1072 5.5-1071 6a
1073 720 1.0-1073 1.3-1071 6¢
FPI

10~4 3767 | 1.0-107* | 3.9-1072 be
107° 10000 | 4.0-107° | 1.9-1072 6g

Method 0 k |9kl L, Ekt1 figure
102 33 | 96-1073 | 5.9-107! 7a
CGM (1), vy =0.001 | 1073 2435 | 5.4-1073 | 4.3-107! 7c
1073 || 10000 | 5.4-1073 | 4.3-107! Te

102 38 1 99-107% | 5.0-10! 8a
1073 90 | 1.0-1073 | 1.5-101 8¢
10~ 473 | 1.0-107* | 4.6-1072 8e

CGM (2), 7 = 0.05
10°5 | 3957 | 1.0-107° | 5.0-1073 | 0a

1076 7723 | 1.0-107% | 5.0-107* 9c
10-7 || 10000 | 2.5-1077 | 1.3-10~* e
1072 36 | 9.4-1072 | 6.3-107! 10a
1073 320 | 9.9-107* | 1.2-107! 10c
1074 3493 | 1.0-107* | 1.5-1072 10e
107° || 10000 | 3.5-107° | 5.3-107% | 10g

IRCGM, ~o = 0.05

Table 1: The stop data for the simulations, « and i are not shown. CGM (1) uses gx = hy + v(ar — aop)
and CGM (2) uses g = hy + v(ar — ax—1).

IRCGM converges linearly to a* when k is large. It gives extremely good reconstructions, as can be seen
in figure 10, and you need around 300 iterations to make a qualified guess of the numerical values inside the
enclosures. When comparing to CGM (2), the shape of the reconstruction from IRCGM looks better for the
same number of iterations, but the error norm is slightly higher.

CGM (2) gives the best reconstructions in the least number of iterations in this case. Around 100-500
iterations is necessary to be able to make good predictions of the conductivity inside the enclosures.
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Figure 6: Reconstructed conductivity a(x) for case 1, using FPI, both backscatter and transmitted data
without any noise.
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Figure 7: Reconstructed conductivity a(x) for case 1, using CGM (1) with g, = hy + v(ar — ag), both
backscatter and transmitted data without any noise.
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Figure 8: Reconstructed conductivity a(z) for case 1, using CGM (2) with gp = hy + v(ax — ax—1), both
backscatter and transmitted data without any noise.
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Figure 9: Reconstructed conductivity a(z) for case 1, using CGM (2) with gp = hy + v(ar — ax—1), both
backscatter and transmitted data without any noise.
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Figure 10: Reconstructed conductivity a(z) for case 1, using IRCGM, both backscatter and transmitted data
without any noise.
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17.2 Results using only backscatter data, varying noise level

The results of the simulations can be seen in figures 12 to 15. Error norms versus number of iterations are
shown in table 2 and figure 11.
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Figure 11: The error norm &, and gradient norm ||hgllL,. ||gk|/L, versus number of iterations k for the four
algorithms. Only backscatter data is used, noise level o is varied.

The inverse problem has good convergence in case 1, when only backscatter data is used and the noise
level is zero. For non-zero noise levels FPI, CGM (2) and IRCGM diverge after some number of iterations,
indicating that the inverse problem is ill-posed as the solutions become numerically unstable when noise is
introduced. Clearly the reconstructions get worse as more noise is added, and the algorithms diverge or sta-
bilizes for lower number of iterations as the noise level is increased.

For FPI, the best possible reconstruction, using maximum 10 000 iterations, is shown in figure 12. With
no noise, the algorithm is able to reconstruct a very satisfactory. The result is comparable to that of using
both backscatter and transmitted data. When o # 0, the solution diverges after some number of iterations.
However, the gradient norm stabilizes before the error norm diverges. The reconstruction for o = 0.03 is
quite good compared to those of o = 0.10,0.20. It is possible to predict the shape of the enclosures for all
the noise levels simulated. One way to do so, in a post process, is to let all the elements with a < 2 be set
to 1, and take the mean value of the enclosures that appear.

CGM (1) never diverges. The error norm stabilizes when the gradient norm stabilizes, which is one of
the good properties of CGM (1). Figure 13 shows the stabilized reconstruction a1gpgp for all noise levels.
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Clearly the reconstruction becomes worse near the boundary I's, in all noise levels, when compared to the
previous simulation for CGM (1). The shape of the enclosures can be estimated in all noise levels. Using
o = 0.00,0.03 gives comparable results.

Method o k el 2, Ekt1 figure
0.00 || 10000 | 1.2-107* | 85-102 12a
0.03 5425 | 4.1-1073 | 2.9-1071 12¢

FPI
0.10 1327 | 1.2-1072 | 1.1-10° 12e
0.20 748 | 4.5-1072 1.4-10° 12g
Method o k lgx] Lz, Ekt1 figure

0.00 || 10000 | 4.5-1073 | 7.9-10"! | 13a
0.03 || 10000 | 5.2-1073 | 88-10"1 | 13c
0.10 | 10000 | 1.4-1072 | 1.4-10° 13e
0.20 || 10000 | 3.1-10"2 | 1.7-10° 13g
0.00 | 10000 | 4.1-107° | 8.6-10"2 | 14a

CGM (1), v = 0.001

0.03 146 | 9.6-1073 1.1-109 14c
CGM (2), v = 0.05

0.10 202 | 1.8-1072 1.1-10° 14e

0.20 82 | 3.0-1072 1.6 - 109 l4g

0.00 || 10000 | 3.5-107° | 5.3-1073 15a

0.03 222 | 49-1073 | 1.6-107! 15¢
IRCGM, vy = 0.05

0.10 186 | 2.0-102 | 3.4-107! 15e

0.20 37 | 35-1072 | 59-10"! 15g

Table 2: Stop data for lowest possible error norm &, for the different noise levels o and algorithms. CGM (1)
uses g = hi + v(ar — ap) and CGM (2) uses g = hg + y(ar — ak—1).

CGM (2) gets very good results when o = 0, but quickly diverges for non-zero noise levels. It appears
to be the least suitable algorithm in the case, compared to the other algorithms, because it gets the highest
error norm for low noise levels.

The reconstructions for IRCGM in figure 15 are extremely good and clearly gives the best solutions in this
case. The solution is almost perfect for ¢ = 0.00,0.03 and adequate for ¢ = 0.10,0.20. The elements near
boundary I's are close to 1 and the enclosures are easily made out in all noise levels, which is something that
the other algorithms lack. However, the error norm diverges instead of stabilizing as the CGM (1) does.

For both CGM (2) and IRCGM, it is critical that the convergence criteria in the algorithms can determine
when the gradient norm have stabilized, so that the computing sequence is broken before the error norm
increases to much. Also, the divergence point can be raised by increasing v and 7y, meaning that the
algorithms need more iterations to produce the same results, but are more stable. For IRCGM the parameter
p € (0,1] is always set to one in the simulations, choosing a smaller p so that ; — 0 more slowly will also
increase the divergence point.
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Figure 12: Best reconstructed conductivity a(z) for case 1, using FPI, only backscatter data and varying
noise level o.
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Figure 13: Best reconstructed conductivity a(x) for case 1, using CGM (1), only backscatter data and varying
noise level o.
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Figure 14: Best reconstructed conductivity a(x) for case 1, using CGM (2), only backscatter data and varying

noise level o.

cre1 = 1.1e-+00
o = 0.219

3 = 0.996

= 0.050

2 4
(c) o = 0.03, k = 146.

k= 202

[lgr|| = 1.8e-02
i1 = 1.1e+00
o, = 0.140

B = 0.999

= 0.050

2 4
(e) o = 0.10, k = 202.

crr1 = 1.6e+00
o, = 0.337
3 = 1.000

(8) 0 = 0.20, k = 82.

[ I [ L ) B

25

3.5

25

1.5

3.5

25

1.5

44

(h) 3D view.



Figure 15: Best reconstructed conductivity a(x) for case 1, using IRCGM, only backscatter data and varying

noise level o.
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18 Case 2

Figure 16: Exact a*(z,y) plotted in 3D over §2.

Compare the results of the algorithms using a fine mesh with a exact conductivity function:
a*(z,y) =145 e5E ), (120)

Let Q@ = [—1,1] x [~1.5,1.5] and use step lengths h, = h, = 0.1 in the triangulation of 2, which means
that the mesh has n, = 21, ny, = 31, n,, = 1251 number of spatial nodes and n.; = 2400 number of spatial
elements. The exact a* is projected into the space of piecewise constant of functions by:

1
- __ * ) 1,2,... .
a; arca(K) //a (x,y)dady Vie{1,2,...,n} (121)
K;

When the elements are so small that a* is approximately linear in each element, we get the simpler approxi-
mation:

1 )
ai = = (0" (@1,90) + " (02,2) + 0" (2,0) ) Vi€ (1,2, ma), (122)

where (z;,y;), j € {1, 2,3} denotes the corner nodes that defines each triangle element.

6

1 5
4

0
3

-1 2
1

-1 0 1
(a) Piecesewise constant a™(z). (b) 3D view.

Figure 17: The triangulated domain K}, with a contour plot of a*(z,y) € Ap on it. Each “square” in the
mesh is divided into four triangle elements. The white line in (a) is the contour where a* = 4.
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The time dependent parameters used to compute FEM solutions are:

T =2L, =4 [s],
2 2 1
= = 6 —_— p—
! 3h, + 3 [5}7
1 3
t=— = =0.075 [s],
2 40
/ (123)
_h [s]
T = 10 S|,
ng=—+1~534 (number of time nodes),
T

p(t) = 20sin(27 ft).

As for case 1, frequency f is chosen so that the wavelength of p(t) divided by step length h, equals 1.5. We
have that angular frequency w = 2w f ~ 41.9 [rad/s]. The end time T is chosen so that u} (z,T) ~ b where
b is some real constant, and p(t) is amplified so that the constant b = 1.

Each simulation requires about 0.5 h of computational time to perform 1000 iterations. The gradient
norm and error norm are saved and used to find the number of iterations k,,;, needed to minimize the error
norm, which may be smaller than 1000 if the sequence diverges, then the simulation is run one more time
with k5 < 1000 as maximum number of iterations to reconstruct the best possible conductivity field.

In the first simulation, the conductivity a(z) is reconstructed using backscatter and transmitted data
t(x,t) from boundary I'y and Iy, without any noise added.

In the second simulation, the conductivity is reconstructed using only backscatter data with noise level
o € {0.00,0.03,0.10, 0.20}.

The parameter p used to compute 7, in IRCGM, is set to one in all the simulations to get the fastest
possible convergence rates.
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18.1 Results using backscatter and transmitted data without any noise

The results of the simulations can be seen in figure 19. Error norms versus number of iterations are shown in

table 3 and figure 5.
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Figure 18: Logarithmic plot of the error norm &, and gradient norms ||hg| .

103

9k||L, versus the number of

iterations k for the four algorithms. Both backscatter and transmitted data is used without any noise.

Method k (1he]l 2, Eht1 figure

FPI 422 | 3.3-107! | 88-107! 19a
Method k llgk || Lo Ekt1 figure

CGM (1), y=0.01 || 1000 | 1.8-10"2 1.4-10° 19¢
CGM (2), v =0.01 320 | 5.3-1072 | 1.4-107! 19e
IRCGM, 7, = 0.01 315 | 5.0-1072 | 1.7-107! 19g

Table 3: Stop data for lowest possible error norm ¢, of the algorithms, using both backscatter and transmitted
data without any noise. CGM (1) uses g = hy + y(ax — ag) and CGM (2) uses g = hy + y(ar — ag—1).

The inverse problem has quite bad convergence in the more complex case 2. The error norm diverges or
stabilizes in all the algorithms, even though both backscatter and transmitted data without any noise is used.
The regularization parameter is chosen so that v = 7y = 0.01 in the conjugate gradient methods, so that
they are more comparable. This means that the reconstructions from CGM (1) are quite bad, which needs
a smaller v to enable smaller norms, and that the CGM (2) and IRCGM both converges and diverges fast.
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The best possible reconstructions are shown in figure 19, where the white line in the contour plots shows the
boundary where a* = 4.

The FPI algorithm is able to produce a reconstruction where the circular shape of a* is somewhat visible,
where the maximum value of a is a little above 4. The CGM (1) reconstruction is quite bad and can not be
used for any good predictions. Of course, it can be expected that the reconstruction gets better with lower
~. The CGM (2) and IRCGM gets almost the same results in the almost the same number of iterations. The
shape looks very much like a* and the numerical values are very close to the exact values.
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Figure 19: Best reconstructed conductivity a(x) for case 2, using both backscatter and transmitted data

without any noise.

(f) 3D view.

(h) 3D view.



18.2 Results using only backscatter data, varying noise level

The results of the simulations can be seen in figures 21 to 24. Error norms versus number of iterations are

shown in table 4 and figure 20.
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Figure 20: The error norm &, and gradient norm ||hgllL,. ||gx|/L, versus number of iterations k for the four
algorithms. Only backscatter data is used, noise level o is varied.

The error norm diverges or stabilizes after some number of iterations for all the algorithms, when only
backscatter data is used with varying noise level.

The error norms for FPI diverges for k > 1000. As before, better reconstructions are attainable with
low noise levels, but the difference is quite small. The shape of the reconstruction is about the same for
o = 0.00,0.03, but the center of the shape is not in the origin.

The CGM (1) gets very bad reconstructions. The shape is spread out and off center, which clearly is
the result from the missing information of the transmitted data. However, the reconstructions are largely the
same for all noise levels. The error norm for CGM (1) stabilizes around 2.05 which is rounded to one decimal
point in the figures.
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Method o k ||hk||L2 Ek+1 figure
0.00 || 1000 | 5.7-1073 1.2 21a
EPl 0.03 || 1000 | 5.9-1073 1.2 21c
0.10 || 1000 | 1.0-1072 1.3 2le
0.20 || 1000 | 2.0-1072 1.5 21g
Method o k lgx]l 2, ep+1 | figure
0.00 || 1000 | 1.5-1072 2.1 22a
0.03 || 1000 | 1.5-1072 2.1 22c
CGM (1), v =0.01
0.10 || 1000 | 1.7-1072 2.0 22e
0.20 || 1000 | 2.2-1072 2.1 22g
0.00 106 | 6.8-1073 1.1 23a
0.03 84 | 85-1073 1.2 23c
CGM (2), v = 0.01
0.10 67 | 1.6-1072 1.2 23e
0.20 47 | 2.5-1072 1.3 23g
0.00 106 | 6.5-1073 1.2 24a
0.03 97 | 7.7-1073 1.1 24c
IRCGM, vy = 0.01
0.10 65 | 1.0-1072 1.2 24e
0.20 46 | 3.0-1072 1.3 24g

Table 4: Stop data for lowest possible error norm ¢y, for the different noise levels o and algorithms. CGM (1)
uses gr = hy + y(ax — ag) and CGM (2) uses g = hy + y(ar — ag—_1).

For CGM (2) and IRCGM, the error norm diverges after some number of iterations depending on o. If ¢
is chosen higher, the reconstruction might become better, but it will take more iterations. Both algorithms
have extremely similar results for the same number of iterations and noise level. The shape is similar to that
of FPI, spread out and slightly off center, but the maximum values are higher, and the number of iterations

needed to compute the best possible reconstruction are lower.
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Figure 21: Best reconstructed conductivity a(z) for case 2, using FPI, only backscatter data and varying

noise level o.
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Figure 22: Best reconstructed conductivity a(x) for case 2, using CGM (1), only backscatter data and varying
noise level o.
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Figure 23: Best reconstructed conductivity a(x) for case 2, using CGM (2), only backscatter data and varying
noise level o.
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Figure 24: Best reconstructed conductivity a(x) for case 2, using IRCGM, only backscatter data and varying
noise level o.
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19 Discussion and conclusion

The iteratively regularized conjugate gradient method (IRCGM) shows promising results for the two case
studies. It appears to be the most versatile algorithm that can cope with noisy input data and still be able to
reconstruct the conductivity in a satisfactory way.

Conjugate gradient methods updated with g = hy + y(ar — ar—1) (CGM (2)) is able to reconstruct the
conductivity extremely good in a faster way than IRCGM, for nice inverse problems such as case 1 that have
a good convergence. But the method quickly becomes numerically unstable when noisy input data is used.

Conjugate gradient methods updated with g, = hy +v(ar —ao) (CGM (1)) is very stable, but the quality
of the reconstruction depends greatly on the value of the regularization parameter. To generate acceptable
reconstructions it is often necessary to run the simulation multiple times trying different ~y:s, which the IRCGM
does in a better way.

Fixed point iterations (FPI) performs good on inverse problems with good convergence, but is slower than
the conjugate gradient methods. The algorithm becomes numerically unstable for ill-posed inverse problems,
but is often able to reconstruct a better conductivity function than CGM (1). The method is the simplest,
but the gradient methods are much faster and more suitable when computational time is an issue.

One way of solving the problem where the error norm diverges instead of stabilizing in IRCGM, might be
to restrict the sequence of 7 in equation (117) to only decrease if the gradient g decreases. That way, the
lowest possible 7 is found for the conjugate gradient method. In a Matlab program the restriction can be
written as:

if beta_k < theta2
gamma_k = gamma_0 / (14+counter) p;
counter = counter + 1;

end

This means that if ||gxllz, > |lgk—1llL,, then let 7% = qx—1, and we can expect the error norm to stabilize
just as the CGM (1) algorithm does. The counter is an integer initially set to one. If the algorithm is able
to find a ay, closer to a*, then it is likely that ||gk|lz, < l|gk—1]|z, and vy, will decrease. The algorithm can
then find the a that minimizes the Tikhonov functional for that ;.

The gradient norm is not constantly decreasing for all k:s in any of the algorithms, as can be seen in
the figures. The trend is of course decreasing, but on the small scale the gradient norm often oscillate. A
condition that only allows 7 to decrease if the gradient norm is smaller than the previous, ensures that the
algorithm is not stopped prematurely.

To handle numerical uncertainty when ||gx ||, =~ ||gr—1|L, , @ good statement is ||gk|lz,/l|gk—1l1., < 6,
where 6§ < 1 a small non-negative constant chosen close to one. In computer programs, it is convenient to
use )

B, = llgrllZ,

= kL, o (124)
lgr—1l7,

to check the statement. The theta?2 scalar in the Matlab code above, is chosen as theta2 = 62. Using a
restriction as this means that 7,1 needs to be computed after 3, for each iteration k in the algorithm, with
initial chosen g and By = 0.

The CGM (1) can be improved by updating ag two or three times, making a combination of CGM (1)
and CGM (2). The idea is to chose ag and compute agy1 until ||gx||L, is smaller than some tolerance or is
stabilized. If the gradient norm is stabilized, then let ag := agy1 and run the algorithm one more time.

This might work, because aq is supposed to be chosen in the vicinity to the exact a* and the regulariza-
tion parameter -y limits the possible set of conductivity functions that minimizes the Tikhonov functional to
a neighbourhood around ag. If we assume that the best reconstruction from the first run of the algorithm is
closer to a*, then it is possible to get better reconstructions using this conductivity as ag in a second run of
the algorithm.

Of course, all reconstructions improve when transmitted data is available to the inverse problem, and real
life applications should benefit greatly by using both sets of data.
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19.1 Restricting the iteratively updated regularization parameter

To get an idea of how the error norm from IRCGM behaves when ~; is only allowed to decrease if equation
(124) is fulfilled, | run a couple if simulations on case 1, using only backscatter data and noise level o = 0.10.
The IRCGM algorithm is compared when updating v with and without the restriction. The result can be
seen in figure 25, where the same measured 4 on the boundary is used in the four simulations. However, it
is not exactly the same data-set as used in the results for case 1, due to the randomness of the noise. In the

10’ | ' '
ol _,...-:EEi::::::::::::::_
10 ---IRCGM(1): &
—IRCGM(1): gkl
IRCGM(2), 6 = 1.00: &,
IRCGM(2), 6 = 1.00: ||g|
---IRCGM(2), 6 = 0.99: ¢,
1071 & —IRCGM(2), 6 = 0.99: ||gx||/1
---IRCGM(2), 6 = 0.95: &,
—IRCGM(2), 6 = 0.95: ||g|
1072 | | '
10° 10" 102 10° 104

k number of iterations

Figure 25: Logarithmic plot of the error norm ¢, and gradient norm ||gx||z, versus the number of iterations
k for the IRCGM algorithm with and without a restriction on 7, using only backscatter data with noise level
o =0.10.

plot IRCGM (1) denotes the algorithm as described without any restriction on ~;, and IRCGM (2) includes
the if statement, where ;1 is computed after 3y, if it is less than 62 and 6 € {1.00,0.99,0.95}.

Clearly the error norm stabilizes close to the minimum as ||gk|/, stabilizes, when 6 < 1, instead of
diverging. All the simulations have approximately the same minimum point for the error norm, which is
e ~ 1.21 — 1.24 at k = 85 — 91, but the resulting reconstruction at £ = 10000 differs largely when 6 < 1.
If the criteria that 541 < 7 is only allowed to decrease if ||gk|lL,/|lgrk—-1llL, < @ is imposed, then the
iteratively regularized CGM algorithm can easily use the convergence criteria to stop computing a1 if the
gradient norms are considered stabilized. This can be done practically by comparing the sequence of ||gx/ L.
or sequence of () or counting the number of successive times that vx+1 = 7. In IRCGM (1), it is harder to
determine when the gradient norm can be considered to be stabilized, and the error norm diverges for each
iteration after the minimum point.

The best possible reconstruction obtained in the result for case 1 is better, using IRCGM under the same
conditions, but that was computed using a different data-set as input, since the generated random variables
used to compute @ are not the same.
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A 1D linear basis functions and resulting FEM matrices
Discretize the interval J = [t1,t,] into n — 1 sub-intervals between the points ¢; < to < -+ < t,, with

step-length 7; = ¢; — t;_1. If we have equal step-length then 7; = 7 for all j. The sub-intervals are defined
by J; = [tj—1,t;]. The n hat-functions {¢;(t)}"_, spanning the interval are then defined by:

Ll e g [t ti 4],

(first end-point) ¢;(t) = ti+1 =t j=1 (125a)
0 else.
st fteltint,
(inner-points) ¢;(t) = tt;:’ll:ti if t € (t;,t541], J=2,...,n—-1 (125b)
0 else.
Lol i e [, ),
(last end-point) ¢;(t) = it e j=n (125c¢)
0 else.

The hat-functions on the end-points are also known as half hat-functions.

1
] P12 Pi-1¥5 Li+1 Pn—19¥n wi1(t) w;i(t)
0.5
0.5
0 0
t1 t2 tj-1 tj thr1 tn—‘l tn tj-1 tj
(a) Plotted over J. (b) Plotted over J;.

Figure 26: The hat-functions plotted over the time interval J and the subinterval J;. The subinterval has
two non-zero hat-functions and is considered to be a standard element.

A.1 Mass matrix

Define the n X n symmetric mass matrix R by:

Tij = / n @j(t)pi(t)dt i,j€{l,...,n}. (126)

ty
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The entries in R can be computed to:

279 Ty 0
Ty 2(12 + 73) T3
T3 2(73 + T4) T4
R— % T 2Am+7s) . (127)

2 (TTL -1 + Tn ) Tn

0 Tn 2Tp

When we have equal step-length 7; = 7, the matrix is simplified to:

2 1 0 |
1 4 1
1 4 -
.
R=— . 128
6 S (128)
4 1
0 1 2 |

All Ry

In the FEM we have a mass matrix R; which is defined by integrating over (0,t;) instead of over the whole
interval (0,7). The time ¢; is not to be confused by the points on the discretized time interval. Assume that
t1 corresponds to the k:th time node, counting ¢ = 0 as the first time node and ¢ = T as the last n:th node,
then the n X n matrix R; can be defined by block matrices as:

R 0
Ry = , (129)
0 0

where R is an k x k matrix defined as equation (128)

A.2 Convection matrix

Define the n x n convection matrix C by:

Cij =/n @ (t)pi(t) dt i,j€{l,...,n}, (130)

t1
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where c;; = —c;; on all entries of C, except at i = j = 1,n. The entries in C' can be computed to:

-1 1 0
-1 0 1
-1 0
co_ 1L (131)
0 1
0 -1 1 |

C' is not dependent on 7; and remains the same when equal step-length 7; = 7 is used.

A21

In the FEM we have a convection matrix Cy which is defined by integrating over (¢1,T") instead of over the
whole interval (0,7). The time ¢; is not to be confused by the points on the discretized time interval. Assume
that ¢; corresponds to the k:th time node, counting ¢ = 0 as the first time node and ¢t = T as the last n:th
node, then the n x n matrix C; can be defined by block matrices as:

0 O
Cy = e (132)
0 C
where C'is an (n — k + 1) x (n — k 4 1) matrix defined as equation (131).

A.3 Stiffness matrix

Define the n x n symmetric stiffness matrix S by:

Sij =/n @i (t)pi(t) dt i,je{l,....n} (133)

t1

The entries in S can be computed to:

1 1 0
T2 T2
1 1 1 1
- (Ht5) %
1 1 1 1
% (Htw) o
1 1 1 .
6 Loyl . (134)
1 1 1
(ot =
0 1 1
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If equal step length is used, S is simplified to:

1 -1 0 ]
-1 2 -1
-1 2
C= o . (135)
2 -1
L0 -1 1|
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B 2D linear basis functions and resulting FEM matrices

Discretize the domain 2 into K}, by drawing arbitrary, adjoint triangles on it, so that there are n nodes and ¢
elements in Kj. The triangles can be acute-, right- or obtuse-angled. Each triangle is determined by its three
corner nodes. It is assumed throughout the computations, that the corner nodes for each triangle is given in
a counter-clockwise fashion. This ensures that area computations are always positive for each element. The
two spatial axes are denoted by x and y.

s 147
1
s +
(a) Triangulation K} of €. (b) Standard element A.

Figure 27: Above is an example of an triangulation of an square domain, and one arbitrary standard element.
The three corner nodes in the standard element are denoted 1, 2, 3 instead of the more arbitrary 1, j, k.

B.1 Computing basis functions on one arbitrary triangle element

Let v, = (x4,v:), @ € {1,2,3} denote the corner nodes that span the arbitrary standard triangle element
denoted A. The continuous piecewise linear function u(z,y) is then described as:

C1
U(l’,y) =c1 T Tty = |: 1 z Yy :| Co 5 (136)

c3

where the unknown constants ¢y, cg, c3 are specific for each element. Assume that u(x,y) is known at the
corner nodes so that u; = u(r;). This gives three equations for three unknown constants:

Uy = c1 + cax1 + c3y1 Uy 1z 1
Up=Cl+CTa+C3Y2 = | ug | =] 1 2 o C2 | (137)
u3z = €1 + €23 + C3Y3 Us 1 z3 w3 c3
—_—
= =R =c

where R™! can be computed via method of cofactors and ¢ = R~!v, inserting ¢ in equation (136) gives

u(x,t) = [1,z,y]R~*v = ¢(z,y)Tv, where the row vector ¢(z,y)T = [1,2,y] R~'. When computed, the
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three basis functions that span the element are:

1
P1(x,y) = a (x2y3 —x3y2 + (Y2 — y3) + y(r3 — $2))a
p2(,y) 1(96 Y1 — r1y3 +2(ys —y1) +y(r1 — ))
2(Z,y) = S| T3y1 — 2193 3 — Y1 1—23)),
d (138)
1
P3(x,y) = E(x1y2 —woy1 +x(y1 — yz) + y(iﬁz - fﬁl)),
d = 22ys — T3Y2 + T3y1 — T1Y3 + T1Y2 — T2Y1,

where d = det(R) is twice the area(A) of the triangle element, d can be computed easily in Matlab using a
skew-symmetric matrix D so that d = y” Dz, that is:

0 -1 1 T
d=1 vy y2 y3 } 1 0 -1 xo | =2-area(A). (139)
1 1 0 3

B.2 Element mass matrix

The 3 x 3 symmetric element mass matrix M computed on one element. M is defined by:

rnﬁ::téf 6,61 dady ije {123}, (140)

where A denotes the element spanned by the three corner nodes.

To compute this integral you can rotate the (z,y)-coordinate system by substituting v = r7n, and
v = rT'n,, so that ¢;(u,v) = ¢;(u). This is the case when n,, is parallel to the gradient of ¢;. Then
determine ¢;(u, v) and compute the integral.

The resulting element mass matrix is:

2 11
M= 2 1], (141)
24
1 1 2

B.3 Element stiffness matrix

The 3 x 3 symmetric element stiffness matrix K computed on one element. K is defined by:

kij = Z/ a (Vo) 'V, drdy i, €{1,2,3}, (142)

where A denotes the element spanned by the three corner nodes, and a(z,y) is the piecewise constant
conductivity. Using the definitions from equation (138), we get that:

1| —(y3—y2)
VQSl = E )
Tr3 — T2
1 Ys — Y1
| —(z3 — 1)
—(y2 —v1)
Vs = -
To — I
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Since the scalar product of the gradients does not depend on (z,y), and a(z,y) is constant in each element,
we get that k;; = (V)T V¢, area(A) a, where element area(A) = d/2.

One easy way to compute K in Matlab, is to define the Jacobian J = % by JI = Vol or
T =[52,52], then K = (ad/2).JJ".

B.4 Global matrices

The global n x n matrices are computed by adding up all the g element matrices. As an example, compute
the global mass matrix by:

q
K = U Ky,
=1

q (144)
m;j :// d)quldxdy:Z/ ¢J¢ld$dy i,j S {1,2,...,n},
K =1 K,

where ff ¢;¢; dxdy is non-zero when 1, j is one of the three nodes that span element K;.
K,
As an example: if b.; is the set of three nodes that span element K.; and M, is the 3 x 3 element mass

matrix, then the global mass matrix M is easily constructed in Matlab by:

M = zeros(n,n);
for i = 1:q
% Determine b_el and compute M_el.
M(b_el,b_el) = M(b_el,b_el) + M_el;
end

B.5 Mass matrix M; and M,

The mass matrices My and Ms along I'y and I's, used in the FEM equations, are defined by:

myy’ =/¢j($)¢i(x)ds i.j€{1,2,...,n},

) (145)
mz('Jz'):/‘bj(I)@(x)ds i,je{1,2,...,n},

Iy

where ng;) is non-zero for nodes 7, 7 on I'; and mz(«jz.) is non-zero for nodes i, j on I's. The integral is analogue
to computations made for the 1D linear basis functions on J.. Assume that b; is the set of nodes that are on

T; for i € {1,2} , arranged in an counter-clockwise way. Then M; can easily be computed in Matlab by:

M_i = zeros(n,n);

% Determine b_i

% Compute block matrix M_tilde along boundary.
M_1(b_i,b_i) = M_1(b_i,b_i) + M_tilde;
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As an example: the triangulation in figure 27a have b; = {15,8,1} and by
i €{1,...,n =18} be unit vectors, then M; and M5 are computed by:

€1s

2
~ h
M="Y
6 1
0
M1[615 €g
M2[€4 €11

where h, is the equal step length in the y-direction.
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4 1
1 2

= {4,11,18}.

Let e; for
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